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WEST BENGAL STATE UNIVERSITY

B A. Honours 2nd Semester Examination, 2021

- PHIACORO4T-PHILOSOPHY (CC4)
HISTORY OF WESTERN PHILOSOPHY-IT

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks siifas Mg s e spfarar e #ea 1
s fwdlal fizera srarm 1on sgq AwA7 T

Candidates showld answer in their own words

Oa7

and adhere to the word limit as practicable.

Answer Question No. 1 and 2 and fwo more questions taking one from each
group (‘A’ & ‘B’)
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1. Answer any five questions from the following:

frwfRe Q-G #ff5fs eiem Tea wes

(a) Explain with example the principles of Universal Instantiation (U.L).
Twizzer A FErEEad forraib g 3w

(b) What is propositional function? Give example.
AT IS 07 7 TRIZZE WS |

(c) What is quantifier? What are its types?
TFE IF AA ? AP IO APMNIAH ?

(d) (Ix)~Mx=~(x)~Mx: Is the sentence true?
(Ax) ~ Mx =~ (x)~ Mx : 9% AT 7 7795 2

(e) What is individual constant?
(& #3F IS A= ?

(f) Find a Eormal form equivalent to the following:
e RiReoeiE e T

~(Ix) [~ (~6x v Rx)]

(g) What is truth function?
ASNCAHFS IS (T ¢

(h) Distinguish between free variable and bound variable with illustrations.
TG AT 6 7 AILIA N 2NLF] (2R ot STt

(1) What do you understand by ‘sufficient condition’?
*fie} *1 7e10S {3 RICal 7

(j) Give the form of the joint method of agreement and difference.

s IS “afoa i wee |

2x5=10
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2. - Answer the following questions: (any fwo)
RS emefm ter wes (- 1D)
(a) Explain the limitations of Existential Instantiation. (E.I) 5
SRR B (1. 1,) e Sheaeta s 2 3l
(b) What is the need for quantification? = 5
PR ermerime §

(¢) Symbolize the following sentences by using quantifiers, variables etc: (any two) 2% x2 =15
RS Al s, TRwies genfia e ediwiie s (@-c 17)
i A girl will win if and only if she is lucky.

CRILT G & 73 3R 9 @t T G ©iofie) |

Apples and oranges are tasty and good for health.

STAT QR FAICET I, GR TR #4C% Sl

iil. Socrates is wise.

1.

A @A |
(d) Explaix_l .fmd illustrate the product theorem and the addition theorem of calculating 2% x2 =5
probability.
TRIZEITR TSI SHTIa @<l @ TR 53 11 -
GROUP-A.
Rem-3
3. Construct formal proof of validity of the following: (any three) 5x3=15

fAsfeie Fferafem wiemste et emid 3w (@-cieT o)

(1) Doctors and lawyers are professional people. Professional people and
executives are respected. Therefore, doctors are respected.

TG ¢ WRAGIAE FeN I R aw Swpeirr it A oar
GGl TR |

(if) Socrates is mortal. Therefore, everything is either mortal or not mortal,
A TePNe | FORR FRAR T THPNeT St et Met =737 |
(iii) (x)(Gx> Hx)
(x)(Ix>~Hx) / ».(x)(IxD~Gx)
@iv) (x)[(Dxv Lx)>Cx]
()[(4x> Ix)
(Fx) (Lx - ~ Ix)
(Ix) (Dx- Ax) / +.(Fx)(Cx - Ix)
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4. Determine the invalidity of the following arguments by the method of truth value ~ 5%3 =15
assignment: (any three)

O SR 7l Fesie FRFefem sitaet e Tt (A-e f61)

(i) If anything is metallic, then it is breakable. There are breakable ornaments.
Therefore, there are metallic ornaments.

w @I g 4Iga tofi 2 OT ©f oA TFF Al AR FOAR 4IgH (Ofd A8
Itz

(i) Ne-employer who is either inconsiderate or tyrannical can be successful.
Some employers are inconsiderate. There are tyrannical employers.
Therefore, no employer can be successful.

I frRd R Sfese wedt b e e Fe | Ry
Ao SREs | CARRIS st SR | ea, (A fATatsiest 7 o
el

(iii) (¥)[Yx> (Tx-Kx)]
(x){Kx D [(Wx > Xx) v (NxD Rx)]}
(x)[Tx >~ (Zx> Nx)]
(Fx) [Yx- (Rx v Xx)]

= (3x) (Yx~Zx)
(iv) @) (Bx~Cx)
(x) (Dx>~Cx)
~(x)(Dx> Bx)
GROUP-B
fqem-4
5. Explain Copi’s criticisms against Mill’s methods. Are the criticisms justified? 10+5
i “mfoel REFta Copi @ FREAGA FEA O I ITA 1 TGS
13 ?
6. Calculate the probability of the following events: (any three) 5x3 =15

=R Wwareferm Ferrel fAdy aw: (@-@i1 61D

() What is the probability of getting at least one and at most one head in tossing
three coins?

&b @t fArwet T30e1 e UFA 9R TR TIAA (TS AT AT IS 2

(i) What is the probability of getting either a 3 ora 5 or a 6 from a single rolling
of a dice?

(b ool §b @R W At 0, ¢ WAl v AT TSR IS 2
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